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        READTHEORY 
Name________________                                                                                                                                              
Date________________ 

••  AAnnaallooggiieess  22  Level 4  
  

  

DDiirreeccttiioonnss:: Choose the pair of words that 
best express a relationship similar to that 
of the original pair. Then write the bridge 
sentence(s) to the right.  
 

A finger is part of a hand. 
A leaf is part of a tree. 
 

  Example: 
BBrriiddggee  TTyyppee::  PPaarrtt  ttoo  WWhhoollee  

##))        FINGER : HAND 

AA))  lettuce : sandwich 

BB))  dog : cat 

CC))  leaf : tree 

DD))  shoe : sock 
 

  

BBrriiddggee  TTyyppee::  FFuunnccttiioonn  
  

11))  MUSICIAN : MUSIC 

AA))  shower : water 

BB))  chef : food 

CC))  machine : snow 

DD))  child : art 
  

 
 
Bridge Sentence: 

  
The function of a musician is to make music. 

  
The function of a __________ is to make 
__________. 

  

BBrriiddggee  TTyyppee::  OOtthheerr  
  

22))  WHALE : OCEAN 

AA))  car : garage 

BB))  snake : ocean 

CC))  tiger : jungle 

DD))  chair : table 
  

 
 
Bridge Sentence: 

  
A whale lives in the ocean. 
 
A __________ lives in the __________. 

  

  

BBrriiddggee  TTyyppee::  DDeeggrreeee  
  

33))  TERRIFIED : SCARED  

AA))  quiet : secret  

BB))  sweet : rich 

CC))  obsessed : interested 

DD))  funny : serious 
  

 
Bridge Sentence: 

  
Someone who is terrified is very scared. 
 
Someone who is __________ is very 
__________. 

 

BBrriiddggee  TTyyppee::  LLaacckk  
  

44))  SAD : HAPPINESS 

AA))  weak : strength 

BB))  sweet : flavor 

CC))  fast : time 

DD))  pretty : beauty 
  

 
Bridge Sentence: 

  
Someone who is sad lacks happiness. 
 
Someone who is __________ lacks 
__________. 
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BBrriiddggee  TTyyppee::  FFuunnccttiioonn  
  

55))  TONGUE : TASTE 

AA))  boat : swim 

BB))  bed : sit 

CC))  bag : buy 

DD))  nose : smell 
 

 
Bridge Sentence: 

  
The tongue is used to taste. 
 
The __________ is used to __________. 

  

BBrriiddggee  TTyyppee::  FFuunnccttiioonn  

66))  CHAIR : SIT 

AA))  cup : drink 

BB))  bottle : break 

CC))  book : read 

DD))  eye : listen 
  

 
 
Bridge Sentence: 

  
A chair is used to sit. 
 
A __________ is used to __________. 

  

BBrriiddggee  TTyyppee::  TTyyppee//KKiinndd  

77))  WRENCH : TOOL 

AA))  cow : milk 

BB))  radio : sound 

CC))  tree : forest 

DD))  carrot : vegetable 
  

 
 
Bridge Sentence: 

  
A wrench is a kind of tool. 
 
_____________________________________. 

  

BBrriiddggee  TTyyppee::  DDeeggrreeee  

88))  TINY : LITTLE 

AA))  huge : big 

BB))  long : tall 

CC))  small : loud 

DD))  neat : messy 
  

 
 
Bridge Sentence: 

  
Something that is tiny is very little. 
 
_____________________________________. 

 
  

BBrriiddggee  TTyyppee::  LLaacckk  

99))  POOR : MONEY 

AA))  tired : energy 

BB))  angry : emotion 

CC))  hot : ice 

DD))  hungry : water 
  

 
 
Bridge Sentence: 

  
_____________________________________. 

 
_____________________________________ 

 
  

BBrriiddggee  TTyyppee::  DDeeffiinniittiioonn  ((AAnnttoonnyymmss))  

1100))  SAFE : DANGEROUS 

AA))  silent : noisy 

BB))  upset : late 

CC))  wise : smart 

DD))  fast : quick 
  

 
 
Bridge Sentence: 

 
_____________________________________. 

 
_____________________________________. 
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Answers and Explanations 
 
1) B 
The function of a musician is to make music. The function of a chef is to make food. Therefore (B) is correct. 

 
2) C 
A whale lives in the ocean. A tiger lives in the jungle. Therefore (C) is correct. 

 
3) C 
Someone who is terrified is very scared. Someone who is obsessed is extremely interested. Therefore (C) is correct. 

 
4) A 
Someone who is sad lacks happiness. Someone who is weak lacks strength. Therefore (A) is correct. 

 
5) D 
The tongue is used to taste. The nose is used to smell. Therefore (D) is correct. 
 
6) A 
A chair is used to sit. A cup is used to drink. Therefore (A) is correct. 

 
7) D 
A wrench is a kind of tool. A carrot is a kind of vegetable. Therefore (D) is correct. 

 
8) A 
Something that is tiny is very little. Something that is huge is very big. Therefore (A) is correct. 

 

9) A 
Someone who is poor lacks money. Someone who is tired lacks energy. Therefore (A) is correct. 

 

10) A 

Something that is safe is not dangerous. Something that is silent is not noisy. Therefore (A) is correct. 


